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WEST BENGAL STATE UNIVERSITY :
B.A./B.Sc. Honours/Programme 2nd Semester Examination, 2023

ECOHGECO02T/ECOGCORO02T-EcoNoMicCs (GE2/DSC2)
INTRODUCTORY MACROECONOMICS

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. SN AT TGZ TRYNT P77 ¥
Candidates should answer in their own words A AN [T 1T U ST AN TG
and adhere to the word limit as practicable. Beg T
1. Answer any six questions from the following: I%6 =12
ffeRe @-t &6 alves Teq wies
(a) Distinguish between GNP and NNP.
GNP & NNP-&3 3 24y & 9

(b) What is meant by value added in a production process?
Berime &R FT IREAE /0o & QI 2
(c) What is velocity of circulation of money?
i efper @ [ 9
(d) Mention the names of two classical economists.
72T IRt SRR i @t
(e) What is High Powered Money?
T Faorrm ad ¥ ¢
(f) What do you mean by transfer earning?
EuCERS B R (OR e e )
(2) What do you mean by full employment?
o TSt ee & it 2
(h) What is per-capita income?
Wi N FeTs [ @I 2
(i) If MPC = 0.6, what will be the value of investment multiplier?
I MPC = 0.6 T o RN @ I F R ?
() Define M1 and M2.
M1 @R M2-99 FR&@ WG |
(k) What is Cost-push inflation?
IS WS & o
(I) What is bank rate?
IR o
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2. Answer any fwo questions from the following: 4x2=8
iR @-it 76 @ei Tegwies
(a) What are the problems or limitations of measuring National income?
WO O 2ARiceid SR 3 FReeief @
(b) What do you mean by ‘saving-investment identity’ in national income accounting?
QIS S oI CFeE e RVt swew” Jeie & Qe 2
(c) Discuss the monetary policies to control inflation.

TS Rt wifde AfSel st St

(d) Discuss the selective credit control methods of RBI.

oEred e i Fdive 3t e AR st s

3. Answer any three questions from the following: 10x3 =30
R Q- Rafy dvem Teawe:
(a) What is investment multiplier? What is the effect on the value of investment 4+6

multiplier if propensity to consume increases? Explain your answer.

me%mmmﬁmc@mwmqﬁamwﬁﬁmﬂewﬁs
HRARET TR ? O TEEHA I WS

(b) Discuss the functions of the Central Bank.
CFE T IR Sieeivat Il

(c) Discuss the Quantity theory of Money of Fisher with its limitation. 7+3
Reeiicm =da +fmiet oef wicesat 3l @] orgn Raraeresf & & o

(d) Discuss the method of credit creation by Commercial Banks. What are its
limitation?

TS T TS I *@ofH QA I 97 AaRmeral & & 9

(e) What is effective demand? Explain how does equilibrium income is determined in
Simple Keynesian Model.

FiFA vifEwt ¥ 9 et @3 wrg o wimisy s AR =1 o gt et

(f) Differentiate between demand pull and cost push inflation. Point out briefly 5+5
different fiscal measures to control inflation.

siftwt IRl ¢ I3 R Erdfes S @ sidef B & o Wit e
ey A et Fi
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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 2nd Semester Examination, 2023

ECOACORO04T-EcoNoMics (CC4)
STATISTICAL METHODS FOR ECONOMICS-I

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. 203 T TIZ RGNS 20 [eet e
Candidates should answer in their own words SRS TS SIAT TR TS N T
and adhere to the word limit as practicable. Ceg FEE)
1.  Answer any five questions from the following: 2x5=10
iR -t #i5f5 deia Tea wies

(a) With example distinguish class boundaries and class limits.
Bwizael SR class boundaries €% class limit-9% M FE

(b) State two utilities of Secondary Data Set.
‘Secondary’ A 16 Boitaifel el

(c) A person bought 6 rupees worth of oranges from each of five markets at 15 paisa,
20 paisa, 25 paisa, 30 paisa and 50 paisa per orange respectively. What is the average
price of an orange?

oo e 5 B R[fen qAwrm Qe 6 BeE IwEIET @ (A @ ) 6 Bre)
ATRSTTS FAAICEIR 7 (Al 945 IUFTH 15 1790, 20 =T, 25 217PH, 30 7, 9
50 =t G FAEAERR 18 W T I

(d) How will you define a Leptokurtic frequency distribution?
of Feia @i “Leptokurtic’ AfRRYl (N JIY T3 2

(e) Show that Standard deviation of first » odd numbers is equal to standard deviation of
first » even numbers.

(T8 @, 2 RYF Reele R 75 [YfS eaw 7 AT @1 Ry 1 Rpyfen
AN

() Explain the concept of bivariate data.
‘Bivariate data’-<3 4i741i{6 & s

(g) What is seasonal fluctuation of time series?
Pl AR TR RS’ e = ¢

(h) What do mean by Index number? Explain its utility in ‘Economics’.
<53 AV TS [ @I ¢ wdNifere @7 Soraifet sicEs )

2061 1 Turn Over



CBCS/B.A./B.Sc./Hons./2nd Sem /ECOACOR04T/2023

2.

Answer any four questions from the following:
FREfRe Q- 5o deik e wies

(a) What do you mean by Semi-logarithmic chart? Point out its advantages over a simple
line diagram.
iR B e & Qi 2 e @i ees i 3 JRaefs oreine)

(b) The first four moments of a frequency distribution about an arbitrary origin are
m =-2, my=14, my=-20 and my=50. Find coefficient of skewness and
coefficient of kurtosis. .

@i @3B ARy FieE IR T @ [Wife e vRi (et Wi 39iEm
m ==2, my=14, m)=—20 G m, =501 &S TN <R SrwFer fify M

(c) The median and mode of the following frequency distribution are respectively 27 and
26. Find a and b.

Aepa ~ARFRYT I T 8 FRANGF A AT 27 6 261 a8 b-97 Wi el )

Class 0-10 | 10-20 | 20-30 | 30-40 | 40-50
&t
Frequency | 3 a 20 12 b
AR
(d) Show that for ‘n’ observations with positive values, the Geometri .
the Arithmetic Mean and Harmonic Mean. ¢ Mean lie between

A8 @’ RS LANF AHTHCR CFCI ST 5T, (A 7% @ g
o . ROERCACE T

(¢) Explain Scatter diagram as a techniques of indicating associati
variables. clation between two

7% ved W & 4@ WY& [, ©f fdinet 3o “Scatter”
Al gt A wter” B3 Rrote ez 70w

(f) Prove that b, =b,, = r?, vs.fhere r= c?rrelation coefficient, b,.= regres sion
of y onx and b,, = regression coefficient of x on y.
& T @ by, = by, =r’ A r = TAS 2, b =
b,,=x on y-93 fAgad oz

coefficient

Y on x-a €9 o =R

Answer any two questions from the following:

e @-coten 75 eivsa Teames

(a) (i) What are the desirable properties of a good measure
Compare Mean and Mode in light of these properties. of central tendency?

aﬁm@@aaﬁwmﬂmﬁ:ﬁfm@mm@ﬁ?ﬁ
T 9 @3

T 05 @ RN T G TR Som gy, MR ARrefie
(ii) Show that the weighted Arithmetic Mean of first

. . h n
weights are equal to the corresponding numbers js equ atural Numbers whose

al
&y ‘n’ FeIRE A WWWWW;;Q"*'I)/&

(AT T T (21+1)/3 T e @ oo oryE
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(b) (i) Prove that %g(x,.—A)z is least when A4 =%. 5
i=

e S %2"3(::,.—,4)2 W A W 4=% =

i=1

(ii) Whatis ratio chart? 5
Ratio foa & ?
(iii) Obtain linear regression equation you consider relevant for the following 4+1

bivariate data set. State the reason of your choice.

ﬁmﬁ-wsmmmamﬁwwmﬁﬁqﬁwﬁﬁmmn (OIS

e FIel Srard T
Age in Years 56 | 68 | 42 | 72 | 36| 63 | 60 | 47 | 55 42 | 49 | 38
o (I ) |
Blood Pressure 147 | 152 125|160 | 118 | 149 | 155 | 128 [ 150 | 140 | 145 | 115
% o7l
(c) () What is meant by relative dispersion? 2
Gi) Ina batch. of 10 children, the 1.Q. of a dull boy is 36 below the average 1.Q. of 8
other 9 children. Show that the standard deviation of the 1.Q. for all the children

can’t be less than 10.8. If this standard deviation is actually 11.4, determine what

the standard deviation will be, when the dull boy is left out?
10wﬁ®aa¢%m«a¢m@a&a@m T@i% 9o 9 T PIeT 1T 3@E SrerE

36 1 T8 cq T PR TECER e R WA FER 10.8-93 9 3@ a1 T
Wﬁ@ammﬁgﬁanméw 11.4 T, O1F T "R IheE w fey

oo R 1 0 TR el

. Calculate (I) Fisher’s Idf:al Price Index and (II) Edgeworth Marshall’s Pri
@ ® Index from the following information: 5 Hrice 8

s oa o (4 (1) TP S Y 7 (1) Edgeworth Marshall-<3 37

< et el

Commodity | Po | Qo | Pn | On

9
A 6 | 50 | 10| 56
B 2 1100 | 2 | 120
C 4 | 60| 6 | 60
D 10| 30 | 12| 24
E 8 | 40 | 12| 36

(i) Whatis Time Reversal Test in Index Number? 2

53 R ‘Time Reversal’ Sor®i6 & ?

X
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=
WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 2nd Semester Examination, 2023

ECOACORO3T-EconomiIcs (CC3)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. &Nfe TN TOE RAYNG ‘I‘ﬁ?ﬁ Ao sz
Candidates should answer in their own words ATFITRI [T ORI I TG TN T2y
and adhere to the word limit as practicable. Beg e
1. Answer any five questions from the following: 2x5 =10
R @i #Aipfe eivas Ted wiss
(a) What is circular flow of income?
AR I8 &R FICP T 2

(b) Distinguish between nominal GDP and real GDP.
iR @ &F© T At St Al i sl

(c) What is CPI?
Steia 7 353 (CPI) & ¢

(d) What are the factors on which slope of LM curve depends?
LM @R Bie (Pl &l R Boa i o 9

(e) Mention the functions of money.

el FrerafE Sradd @l

§3) What are the different tools of monetary policy?
gt Afea Rien afeamef & & o

(g) When is IS curve vertical?

U IS @I TEw w9

(h) If the MPC is 0.75 what is the value of investment multiplier?
2T (S5t &=eISI N 0.75 7t RiNeaist e M= 39 23 2

(i) What are the instruments of fiscal policy?

ieT Aifea gfoamels & & o

2 Answer any four questions from the following: 5x4 =7q

fAsei® (@-GRICAl B1afE @lvsm Taa wies
(a) Discuss — How are inventories treated in national income accounting?

SIS S W el e sieieas o Rvai T3 2 ¢ SicEval S
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(b) What are transfer payments? Why such payments are not included in GNP?
I S FIE I ¢ 92 A GNP §& W A &4 2

(c) How is rate of unemployment related to change in GDP?
RRIA0IA 2@ A GDP ARTSER 7= & 9

(d) Discuss the limitations of the credit creation by the Banks.
JrE I 39 HR Aot Sl I

(e) Write a note on Demand Pull and Cost Push inflation.
ifRvia (e ¢ I JEaie JErRfeT oica S et

(f) What are the alternative definitions of money supply?
wda et Rifes restel 5 7 2

3. Answer any fwo questions from the following:

Aefie @-imt §f6 et Teawes

(a) Distinguish between GDP and GNP. What adjustments are required to derive
personal disposable income from GDP?

GDP @& GNP «3 Tty “ids A8 9@t GDP e Ifeis IJamEmy o el
ffasatimy

(b) What is multiplier? Discuss the concept of Balanced Budget multiplier using
IS-LM Model and simple Keynesian Model.

@efF & 9 [S-LM T 8 FZe (PN A0S AR e 0SB < Yt
HicApA SN

(c) Explain Simple Keynesian model. Derive the stability conditions of such model.
N (FLTN TTA YT I | @ e BReeR =€ el s
(d) Write a comparative note on classical and Keynesian system.

IR 8 (AT NSER Y FEAETE Qs I |
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